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(d) Pmax = (6+6+2+1+1)/3=16/3
Pmin = (6+2+1+1)/3=10/3
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(b) pu=2/3+12/3 =14/3
pq = (2/3+12/3)/3 = 14/9
Pavg = (putpa)/2 = 28/9
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(a) tpas = (6+4h)RC
toar = 4C*R/2 + (6+4h)RC = (8+4h)RC
tod = (tpar + tpar)/2 = (7+4h)RC
(b) tear = (3+2h)RC
tear = (6+4h)RC
ted = (tear + tear)/2 = (9/2+3h)RC
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(a) FZIa] couple -> Ceft = Cgnd + 2*Cagj
Tod = Rinv*Cinv + (Ruire*tRiny) * Cesr
=40p + 805p = 845ps
(b) E&[r] couple -> Ceff = Cgna + Cagj
Tod = Rinv*Cinv + (Ruire*tRiny) *Cerr
=40p + 575p = 615ps
(c) 1V * Cagj / (Cagj+Cgna) = 0.4V
(d) Shielding or separating “~NEEES guard-ring
(guard-ring ;ZF5FI| 745 substrate 5 n,p-well {7 via E17& EFE)
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